
CLASSIFICAÇÃO CANDIDATOS(AS) À BOLSA 2022 

 

 DOUTORADO  

Nome Ingresso Cotista 

 

S – sim 

N - não 

Nota Barema 

socioeconômic

o 

R + E = SS 

(SS) 

Nota 

Produção 

científica 

(PC) 

Total (T) 

 

SS+PC = T 

Nota Final 

 

T + 1 pt cotista 

Classificação 

Fernanda Luiza de Souza Mar/22 N E=5; R=4 2,5+ 4,5+ 1+ 

3= 10 

19 19 1º 

      

Luiz Otávio Corrêa Mar/22 N E=2, R=4 2+2+2+4+4+2,

5 = 10 

16 16 2º 

Stela Maris Mendes S. Araújo Mar/21 N E=4, R=0 2,5+3,0+3,0+2,

0+2,0+2,0+2,0

+2,0+2,0 

= 10 

14 14 3º  

Isabela Breder Vargas Mar/22 N E=5, R=4 4,5 13,5 13,5 4º  

 

Raissa Anastásia de Souza Melo Mar/22 N E=5, R=4 1,5+2 12,5 12,5 5º 

Fernanda Batista Moreira de Andrade Mar/22 N E=5, R=0 4,5+2 11,5 11,5 6º 

Evandro Nunes de Lima Mar/21 S E=0, R=0 2+2 4 4+1= 5 7º  

 

 

 

 

 

 

 

 



MESTRADO 

Nome Ingresso Cotista 

 

S – sim 

N - não 

Nota Barema 

socioeconômico 

R + E = SS 

(SS) 

Nota 

Produção 

científica 

(PC) 

Total (T) 

 

SS+PC = T 

Nota Final 

 

T + 1 pt 

cotista 

Classificação 

Jéssica de Oliveira 

Araújo 

Mar/22 S E=5, R=4 2+1+1+1+1+4

+1,5+1,5+1+1

+1 

19 19+1=20 1º  

Nasc: 

29/10/1995 

Carlos Alberto Travessa 

Junior 

Mar/22 N E=5, R=5 1,5+6+4+4,5+

3 

20 20 

 

2º 

Nasc: 

06/04/98 

Jordânia Jardele de 

Araújo Xavier 

Mar/22 N E=5, R=5 2+2+2+3+4+4

+6+6 

20 20 3º 

Nasc: 

20/08/1998 

Maria Luísa Patrocínio 

Souza 

Mar/22 S E=2, R=5 2+1+1,5+1,5+

1+1+1+1+1 

17 17+1=18 4º 

Tamiris  Oliveira Mar/22 N R=4; E=5 4,5+3 16,5 16,5 5º 

Keila Tamires Silva de 

Assis 

Mar/22 S E=5, R=0 4+3+ 3 15 15+1=16 6º 

Vanessa Peixoto Mar/22 N R=0 + E=5 3+4+2+ 2+11 15 15 

 

7º 

Nasc: 

07/10/97 

 

Andressa Pâmela de 

Souza 

Mar/22 N 4+5 = 9 3 12 12 8º 

Maíla Marques 

Portuense Ambrósio 

Mar/22 N R=4, E=5 

 

0 9 9 9º 

Mallú Quintão Martins Mar/22 N E=3, R=0 1,0+3,0 7 7 10º 

Francieli Carneiro 

Mendes. 

Mar/22 N R= 0, E=5 0 5 5 11º 

Luciane Cristina de 

Souza Marques 

Mar/22 N E=0, R=4 0 4 4 12º 

Abdias Costa da Silva Mar/22 S R=0, E= 0 1,5 1,5 2,5 13º 

 


